Potencias de 10 (B)

98 = 1000

31000

71 = 1000

67+ 1000

50+ 1000

63+ 1000

201000

28 +1000

43 = 1000

45 +1000

Calcule los siguientes cocientes.

86 + 1000

521000

56 + 1000

811000

26 + 1000

86 + 1000

911000

341000

41000

49 = 1000

MatesLibres.Com




Potencias de 10 (B) Respuestas

98 = 1000
0.098
31000
0.003
71 +1000
0.071
67 <1000
0.067
501000
0.05
63 <1000
0.063
201000
0.02
28 <1000
0.028
43 +-1000
0.043
451000
0.045

Calcule los siguientes cocientes.

861000
0.086
521000
0.052
56 =1000
0.056
811000
0.081
261000
0.026
861000
0.086
911000
0.091
34 +1000
0.034
41000
0.004
49 = 1000
0.049
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